

Vendor Ranking

Page 1 of 1

Letting: 08240514 May 14, 2024 02:30 PM **Call Order:** 008 **Contract:** E8V28-R0

District: Turnpike Counties: PALM BEACH, TURNPIKE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 19276217213 (*)

Contract Desc: MOWING & LITTER REMOVAL IN PALM BEACH - ZONE 1

Ranl	vendor Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SOUTH FLORIDA BUSHOG SERVICE, INC.	Responsive	Winning bid	\$356,656.00	100.00% Intent
2	KNIGHT PROPERTY MANAGEMENT SERVICE, INC.	Responsive	Non-Winning Bid	\$413,342.00	115.89%
3	SALAZAR CONTRACTING LLC	Responsive	Non-Winning Bid	\$423,784.40	118.82%
4	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$498,144.00	139.67%
	INSHAPE MAINTENANCE INC	Non Responsive	Non-Winning Bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: MAY 28, 2024 AT 4:00 PM



Tabulation of Bids

Page 1 of 3

Letting: 08240514 May 14, 2024 **Call Order:** 008 **Contract:** E8V28-R0

District: Turnpike Counties: PALM BEACH, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

TURNPIKE

Project(s): 19276217213 (*)

Contract Descr: MOWING & LITTER REMOVAL IN PALM BEACH - ZONE 1

The work specified in this consists of providing all labor, materials, equipment, and incidentals necessary to perform routine mowing and litter removal along the roadside and slopes at various locations on Florida's Turnpike (SR-91), Milepost (MP) 73.0 to 100.0, including ramps, feeder, and connector roads.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS CONTRACT.

	e No / Item ID Alterna		te Quantity Units	(1) SOUTH FLORIDA BUSHOG SERVICE, INC.		(2) KNIGHT PROPERTY MANAGEMENT SERVICE, INC.		(3) SALAZAR CONTRACTING LLC	
	dicates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(LARGE MACH	IINE MOWING (AC					
0005 MOWIN	E107 2 1 IG (LARGE MAC	CHINE)	5,680.000 AC	10.00000	56,800.00	9.75000	55,380.00	12.98000	73,726.40
0010 MOWIN	E107 2 2 IG (SLOPE)		500.000 AC	25.00000	12,500.00	57.75000	28,875.00	38.00000	19,000.00
0015 MOWIN	E107 2 4 IG (SMALL MAC	CHINE)	1,120.000 AC	15.00000	16,800.00	57.75000	64,680.00	65.00000	72,800.00
0020 LITTER	E110 30 REMOVAL		24,596.000 AC	11.00000	270,556.00	10.75000	264,407.00	10.50000	258,258.00
		MACHINE Se WING (AC)	ection Totals:		\$356,656.00		\$413,342.00		\$423,784.40

Contract Grand Totals:	\$356,656.00	\$413,342.00	423,784.40
------------------------	--------------	--------------	------------



Tabulation of Bids

Page 2 of 3

Letting:	08240514	May 14, 2024	Cal	Order: 008		Contract:	E8V28-R0	
Line No /		ernate Quantity Units	(4) SUPERIOR L & LAW					
() indicates	item is bid as Lump	Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (LARGE MACHINE MOWING (AC								
	7 2 1 ARGE MACHINE)	5,680.000 AC	27.00000	153,360.00				
0010 E10 MOWING (SL	7 2 2 .OPE)	500.000 AC	99.00000	49,500.00				
	7 2 4 MALL MACHINE)	1,120.000 AC	66.00000	73,920.00				
0020 E11 LITTER REM	0 30 OVAL	24,596.000 AC	9.00000	221,364.00				
0001 LARGE MACHINE Section Totals: MOWING (AC)				\$498,144.00				



Tabulation of Bids

Page 3 of 3

Letting: 08240514

May 14, 2024

Call Order: 008

Contract:

E8V28-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.